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0 Preface

The following lecture notes are mostly based on textbook (Neill, Quadling, & Gilbey,
2016) questions and past-paper questions from various years. The author assumes that
the readers are able to do basic vector operations and understands coordinate geometry.

These notes only include the key parts of the lectures and the types of problems that
often appear in the actual exam. Further reading and past-year papers practice are highly
encouraged.

1 Vector Equations

1.1 Introduction
Point on a line through a in the direction of p have position vectors r = a + tp, where ¢

is a variable scalar. This is called the vector equation of a line.

Lines with vector equation r = a + tp and r = b + tq have the same direction if p is a
multiple of q. If in addition, b — a is a multiple of q, the lines are the same; otherwise
the lines are parallel.

1.2 Vector Equation from a Point and a Directional Vector

With a given point p and a directional vector n, we can form the vector equation:
r=p+An

as well as obtain both parametric and Cartesian equations.

1.2.1 Example 1

1

Given the point p(2,—3) and n = <2

>, find its vector equation, parametric equations,

and Cartesian equation.

Solution
Vector Equation:

()2 (%)
(%) ()
(24

r=2+A (1)

r
r

Parametric Equations:

y=—3—3\ (2)



Cartesian Equation:

Make A the subject of equation (1):
A=1x—2 (3)
Substitute equation (3) into equation (2):
y=-3-3(z—-2)

y=-3-32+6

Obtaining:
y=-—-3r+3

as our Cartesian equation.

1.2.2 Example 2

_2>, find its vector

Given that the line passes through origin and is parallel to n = ( 3

equation, parametric equations, and Cartesian equation.

Solution
Vector Equation:

Parametric Equations:

r = =2\ (4)
y =3\ (5)
Cartesian Equation:
Make A the subject of equation (3):
1

Substitute equation (6) into equation (5):

Obtaining:

as our Cartesian equation.



1.2.3 Example 3

Find the vector equation for lines with the following Cartesian equation:
r+3y="7

Solution
Rearrange the Cartesian to be of the form y = mz + ¢

y=—ax+7
1 n 7
= ——X —_
Y733
Notice: m = —3, and as we know:
Ay 1
m—=— —= ——
Ax 3

Hence in its directional vector form, denoted by n:

o= ()= (5)

Then, to find one point that passes through the line, we can set x to any value. For
instance, when:

rz=1
We find:
1 7
V=733
6
"3
Yy =2

Thus obtaining point at (1,2), with which we can form the vector equation:
1 3
= () (2)

Find the vector equation for lines with the following Cartesian equation:

1.2.4 Example 4

r=2

Solution
Unlike 1.2.3 Example 3, our line has no y in its equation, and if we notice:

The line x = 2 is a straight, vertical line, whose gradient is undefined! If we try to
calculate it: a
m = 0= unde fined,



Y —x=2
9 |
11
x
-1 1 ] 3
1!

where a is a constant. Thus, its directional vector is:

= ()

Note: We chose 1 as our value to a, but it can be any other constant, because any value
of a will still make the gradient be undefined.

Therefore, the vector equation formed by the line is:

60

1.3 Vector Equation from two Points of a Line

With given points p and ¢, we can form the vector equation:

r=p+An
or,
r=q+An
where:
n=p—gq
or,
n=q—p

1.3.1 Example 1

Given that a line passes through the point p(0, 7) and ¢(5, 0), find its vector equation and
its parametric equations.

Solution
Vector Equation:

- ()6



Parametric Equations:

T =5\
y="7—"T\

1.4 Point of Intersection between two Vector Equations

Given two vector equations r; and 79, we can equate both of them:
M = T2

and solve the system of linear equations to obtain the point of intersection.

1.4.1 Example 1

Find the coordinate of the points common to the following pair of lines, if any.
2 5
7= ()2 ()
(3 n 1
2= o1) TR
r = T9

245\ ([ 3+n
3 ) \—-1+u

=2+5A=3+u

Solution

From which we get:

7
SOA—pu=1 (7)
and:
IN=—-1+pu
3N —pu=-1 (8)

Subtracting both sides of equation (7) and (8) respectively yields:
2\ =2

A=1



With the value of A\, we can substitute it into r:
S 245

L3

_— 7

s

(7,3)

Hence the point of intersection being:

Note: Solving for the value of ;1 and substituting it into o will also yield the same result.

1.4.2 Example 2

Find the coordinate of the points common to the following pair of lines, if any.

(3 ()
()0 (3)
[)-+()

= ﬂQ == aﬁl

Notice:

where a is a scalar. Since the directional vector ns is a multiple of n;, that means both
lines are parallel to each other (See 1.1 Introduction). And from coordinate geometry,
we know that two parallel lines never intersect each other. Hence, there are no common
points.

1.4.3 Example 3

Find the coordinate of the points common to the following pair of lines, if any.

()
n= (1) ()
2(5)-=(%)
=o(5)=0(%)

where a and b are scalars, and n; and n, are multiples of (_32>

Notice:



In addition:

%)-0-()
(-
nn()

Similar to 1.4.2 Example 2, r; and ry are not only parallel lines, but also are the exact
same lines. Thus, there are no common points.

with a having the value of 1.

2 Vector Equations in 3-Dimensions

2.1 Introduction

Unlike in 2-Dimensions, 3-Dimension Vector Equation deals with 3 coordinates, usually
denoted by x, y, and z. Later on, we can form vector equation of a line in 3-dimensions,
as well as vector equation of a plane. Since we are dealing with 3 coordinates, we move

on to vectors with 3 elements:
T

Y
z

Methods such as to find vector equation from a point and a directional vector, point of
intersection, etc., still works the same in 3-D.

Similarly, methods to be introduced also works in 2-D, but for future convenience we are
going to start using 3-D.

2.2 Finding out whether a Point lies on a Line

Given the point p;(x,y, z) that lies on a vector equation r = pg + An, we can find a value
of X\ that satisfies the equation:

p1=po+ An
2.2.1 Example 1

Find whether or not the point p(—3,1,5) lies on the following line:

1 -2
r=|3]+X|—-1
1 2
Solution:
-3 1 -2
1 =|3]+X]|-1
5 1 2



-2 -3 1
AM-1]l=111]1-13
2 5 1

-2 —4

A -1 =1-2

2 4

We find that:
A=2

satisfies the equation. Thus the point p lies on line r.

2.2.2 Example 2

Find whether or not the point p(—3,1,5) lies on the following line:

0 1
r=|1]+X1|0
2 3
Solution:
-3 0 1
1 |]=11]+X1]0
5 2 3
1 -3 0
A0 = 1 — |1
3 5 2
1 -3
A0l =10
3 3

We find that no value of A will satisfy the equation. Thus point p does not lie on line r.

2.3 Cross Product

In order to be able to do further calculations, we need to first understand another operator
for vectors, the cross product. Unlike the dot product, the cross product requires both
of the vectors to be in 3-dimensions. The operator is denoted by:

U X U

While the dot product of two vectors returns a scalar, the cross product returns another
vector which is orthogonal to both input vectors.

2.3.1 Finding the Cross Product

Given the vector:

>
I
IS



and the vector:

o
o= |7
8
Hence their cross product is:
x «
uxov=[(y| x|
z ot
yy — 2B
uxXv=|za—uzxy
B — ya

It’s pretty difficult to memorize the cross product by its formula. The author found a
simpler and more intuitive method to finding the cross product.

Given the same vectors @ and v, list out the components of each vector with respect to
the unit vectors ¢, j and k:

Vector || ¢ | 7 | k
1 x|y |z
0 al B |y

Then, the i component of the cross product is the determinant of the matrix:

_(y =
A_<5 7)
det(A) = yy — 28

Notice: A is simply the matrix formed when column 7 is covered up from the table.

IS

Similarly, the 7 component of the cross product is the negative of the determinant of
the matrix formed when column j is covered up:

B (x z)
a 7y
det(B) = xy — z«
= —det(B) = za — a7y

Lastly, the & component of the cross product is the determinant of the matrix formed

when column £ is covered up:
_(* Y
o= (a )

det(C) = 2 — ya
Therefore, the cross product is equivalent to:
U x 0 =det(A)i — det(B)j + det(C)k
ix b= (yy—zB)i— (vy —za)j + (8 — ya)k
ux 0= (yy—z20)i+ (za — x7)j + (28 — ya)k

which yields the same results as the formula of the cross product.

10



3 Plane Equations

Now that we’ve entered 3-dimensions, we are no longer bounded by lines - instead planes.
And just like lines, planes too have their vector equations.

3.1 Introduction

Normally, a line is described with the vector uniquely parallel to it, usually denoted by
n.

With planes, there are many pairs of vectors parallel to the it, but there exists a vector
which is uniquely normal or orthogonal to it. This normal vector is used to determine
a plane, usually denoted by m.

3.2 Normal Equation of a Plane

Let m be a vector normal to a plane. Let r be a position vector of a point on the plane,
and a be any other point on the plane.

m

(o)

Then the vector » — a is a vector parallel to the plane, and is therefore normal to m.
Thus, the plane has the normal equation:

(r—a)-m=0

or equivalently,

3.3 Cartesian Equation of a Plane

x a
If we write r = |y | and 7 = | b |, equation (9) becomes of the form:
z

ar +by+c=a-m

And the right hand side of the equation is just a constant. Therefore, the plane has the
Cartesian Equation:
ar+by+c=d

where d is a constant determined by the coordinates of a.

11



3.3.1 Example 1

Find the Cartesian equation of a plane that passes through the point p(2, —4, —5) and is
perpendicular to the vector 3¢ + 5 — 2k.

Solution
x 3
Let r= [y |,and m = | 1 |, then the plane has the Cartesian equation:
z -2
r-m=d
x 3
yl-[ 1] =d (10)
z —2

In order to find the value of d that satisfies the point p, we need to substitute the values
of z, y and z in equation (10) by the coordinates of p,

2 3
—41-1 1 |=d
-5 -2
6—-4+10=d
d=12

With that, our equation (10) becomes

T 3
Y 1 =12
z -2

And our Cartesian equation as the final answer is:

3r+y—2z=12

3.4 Vector Equation of a Plane from 3 Points on the Plane

As said in 3.1 Introduction, we can use a pair of vectors parallel to the plane to describe
the plane’s equation. Given three points A, B, and C' that lies on a plane, then the plane
has the vector equation:

r = OA+ M(AB) + u(AC)

where O is the origin, both A and p being variable scalars.
Note: You can interchange OA with OB or Ob, since all three of them lies on the plane.
Likewise, you can vary the vectors AB and AC' with any two of the three points, since

the vectors formed will all be parallel to the plane. However, the two vectors have to be
distinct to one another.

12



4 Distance

The concept of distance will be used again in Vectors in Pure Mathematics I11. However,
they will be in a deeper level, where we can find the distance from various quantities,
such as from point-to-line distance, line-to-line distance, point-to-plane distance, plane-
to-plane distance, etc.

4.1 Magnitude of a Vector

From Vectors in Pure Mathematics I, we know that a vector has its respective magnitude,
which corresponds to the quantity distance from a point to another. The equation we
used in 2-D is similar to that of Pythagoras’ Theorem, where the vector:

()

il = Vo

And unsurprisingly, the equation still holds for vectors in 3-dimensions, where the vector:

has a magnitude of:

Q>
I
INEENSIIE

has a magnitude of:

la| = /2% + y? + 22

4.2 Distance from a Point to a Line

There are two methods taught in order to find the distance from a point to a line, one
utilizing a distance equation, and the other being a more intuitive approach. The more
formal approach has the equation:

: [pPo X N
dis(p,r) = Tl

where, r = pg + An is the vector equation of the line and p is a point in space.

The more informal method might be easier to be understood via an example problem, as
follows:

4.2.1 Example 1

—4 3
Calculate the distance of the point p(—6,1,21) to the liner = [ =5 | +pu | 1
-1 1

Solution
Firstly, we let a point p’ be a point on the line r, which is the foot of the perpendicular

13



from the point p to 7.

In that case, as the point p’ lies on the line r, it has the general equation of r, but still
with an unknown value of yu:

—4 3
Pr=|-5])+n(1
-1 1
Then, we find the vector pﬁ/ ;
' =p —p
—4 3 —6
pp)=|-5|+pll|—|1
—1 1 21
3p+ 2
pp=| pn—0
w— 22

And as we can see from the diagram, pf)’ is orthogonal to the directional vector of r, n.
Hence:

pp - =0 (11)

From which we can find the value of p that satisfies equation (11).

3+ 2 3
= pu—-61]-11]=0
=22 1

p+6+p—6+pu—22=0
1p =22
p=2

14



With the actual value of p for the point p’, we can substitute it to the vector pZ)’ :

3p+ 2
pp'=1|pn—-"6
w— 22
6+ 2
pp=1|2—-6
2—-22
8
pp'=| —4
—20

And, if you haven’t noticed, the magnitude of p;?’ is the distance of the point p to the
line r — the value we’ve been looking for all along.

pp/| = V/(8)2 + (—4)% + (—20)?
[pp/| = V480
Ipp'| = V16 % 30
Ipp/| = 4v/30
= dis(p,r) = 4V/30

Note: Using the formula for distance between point and line would yield the same result.

4.3 Distance from a Line to another Line

The equation to find the distance between two lines is very similar to that of a point to
a line. However, it involves using the cross product, which we’'ve discussed before in 2.3
Cross Product. Since it uses the cross product, the lines have to be in 3-dimensions.
It is as follows:

dis(ry,re) =
where, 1y = @ + \u and ry = P + uo.

Note: The dot product in the numerator produces a scalar, hence the value taken is its
absolute value. On the other hand, the denominator corresponds to the magnitude of the
cross product of the two directional vectors of the respective lines.

4.3.1 Example 1

Find the shortest distance between two skew lines

0 1 1 1
rm=12 |4+pll]landres=] 0 | +A|1

-1 2 —1 3
Solution

15



We’ll be utilizing the equation:

dis(ry,re) =

So let’s firstly list out each of the components of the equation, starting with PZ):

PQ=Q-P
1 0
PQ=(0]-1| 2
~1 ~1
1
PQ=|-2
0

Then, the cross product of u and v:

Vector || i | j | k

U 11112
0 11113
=ux0=03-2)i—3-2)+(1-1)k
UX0=1—7J
1
uxv=1[-1
0

Furthermore, its magnitude is as follows:

i x 0] = /(1)2 + (=1)% + (0)2

0 x 0] = V2

The last component, the numerator:

1 1
PQ-(uxv)=|-2|-1-1

0 0
PQ-(ax0)=1+4+240
PQ- (i x 0) =3

Finally, as our final result:

16



4.4 Distance from a Point to a Plane

Unlike, previous distance calculations, in order to calculate the distance from a point to
a plane, we need more than both of their respective quantities. This is because, we need
to know at least one point that lies on the plane. The equation is as follows:

. pq - m
dis(p, 7) — L |

where p is a point in space, and 7 : r - m = d is the plane containing a point q.

We are actually going to derive this equation, with the aid of a diagram.

Proof. Notice that the vertical line pointing towards p is normal to the plane m, which
means it is parallel to the normal vector m, since both of them are orthogonal to the
plane itself. Let’s label the point at which the vertical line intercepts the plane as p'.

Also, the length of the vertical line, |p_pf’ | is indeed the distance between point p and the
plane m — the quantity we are looking for.

If we take the angle # between the vectors pg and the vertical line pp/, the cosine of the
angle is as follows:

d
cos(0) = —= 12
©) Iz (12
from the basic formula:
adjacent
cos() = ———
hypotenuse

Then, if we take the dot product between the vectors pg and m, we’ll get:
pg - = cos(0)|pg| ||
which, if we rearrange yields,
pqg-m
[pa ||
Notice: The angle 6 corresponds to the same angle in both equations (12) and (13) since
m and pp’ are parallel to each other, thus are just multiples of the same vector.

= cos(0) (13)

Therefore, if we equate equations (12) and (13), we get:

lpp'| _ Pl
pg|  |pg|m)|

17



And crossing out the quantity |pg| from both sides:

-, _p?]Wh
ppy'| = ==
0]

If you realized, the numerator on the right hand side do not have an absolute value
operator, although it should have one because the numerator needs to be strictly positive
to yield a positive value for the distance of a line (distance is always positive in value,
and denominator is already strictly positive).

Thus our final equation is:

- pg -
lpp'| = —
||
dis(p,m) = |qu- &l ]
||

Which is indeed the point-to-plane-distance equation.

4.4.1 Example 1

Find the equation of a plane in scalar product form, passing through the point ¢(2, 1, —3)
and is perpendicular to 5i — 27 + k. What is the distance from the plane to the origin?

Solution
T )

Let r= |y |, and m = | —2 |, then the plane has the Cartesian equation:
z 1

) )

Then to find the value of d, we just need to substitute the vector r by the coordinates of

2 )
1 -2 =d
-3 1
10-2-3=d
d=5 (15)
With that, our equation (14) becomes
x >
Yy -2 =5
z 1



And our Cartesian equation/scalar product is:
r —2y+z=95

To find the distance, we just need to utilize the equation we just derived at 4.4 Distance
from a Point to a Plane:

0Q -1
dis(0,m) = 0L ™
I
Because the point is just the origin O(0,0,0), the value of the numerator is equivalent to
the value of d in (15).

The only component we need to evaluate is the magnitude of m:

] = V/(5)2 + (=2)2 + (1)
7| = v/30

Finally, we can find the distance from origin to the plane as:

dis(O, ) = \‘/LS‘_O
dis(O, ) = —5\3/3_0
dis(O, ) = @

5 Angle

Like distance, the concept of angles will be used again in Pure Mathematics I1I, and also
in a deeper level.

5.1 Angle between two Lines

As we know from one of the definitions of the dot product, the dot product can be used
to find the angle in between two lines.

a-b
0s0) = 12

At this point, you should be familiar with this, since it was used in Pure Mathematics I
previously.

5.2 Angle between a Line and a Plane

The equation for this quantity is very similar to that of the angle between two lines. It
is as follows:

>
>

o
sin0) = 2]

where 6 is the angle between a line and a plane, n is the directional vector of the line,
and 7 is the normal /orthogonal vector of the plane.

19



It is also possible to find the angle by using the cosine function, as:

cos (Z - 9) = sin(0)

2
Therefore:
o=1"—¢
2
where, o
n-m
Ot = Tallan

5.2.1 Example 1

Find the angle between the line with the equation r - (2i + k) + A(3i — 475 + k) and the
plane with equation r - (5i + j — 6k) = 2.

Solution
We find that:
3
n=|-—4
1
7] = V/(3)2 + (—4)% + (1)2
] = V26
and:
5
m = 1
—6
/| = /(5)2 + (1)? + (—6)?
7| = V62
Then:

>»
3
I
S
! =1 eo

A =15—4—
Ao =5

With all the required values found, we can finally use the angle formula:
5

sin() = N

0 — sin! (L)
Vv 264/ 62
0~ 7.2°

20



6 Past Paper Questions

6.1 Problem 1

With respect to the origin O, the points A B, C, D have position vectors given by
OA=i+37+2k,OB=2i+j—k, OC=214+4j+k, OD = —3i1 + j + 2k.

i) Find the equation of the plane containing A, B and C, giving your answer in the form
axr + by +cz =d. [6]

ii) The line through D parallel to OA meets the plane with equation z + 2y — 2z = 7 at
the point P. Find the position vector of P and show that the length of DP is 2¢/14. [5]

Solution

i) Firstly, let’s find two vectors parallel to the plane, namely AB:

and AC:

With those two vectors, we can find the vector equation of the plane:

—

r = OA + MAB) + u(AC)

1 1 1
r=|3]+A|-2]+pu| 1

2 -3 —1

1+ A+p
r=\3-2\+u

2-3\—pu

Then, we need to find a vector orthogonal to the plane, which we can find by the cross
product between AB and AC"

21



Vector || 7 | J k
AB [|1]-2]-3
AC 1] 1] =1

= ABXx AC = (2+3)i— (—1+3)j + (1 + 2)k
AB x AC = 5i — 2j + 3k
o 5
ABx AC=|-2]=m
3

Finally to find the Cartesian equation of the plane:

~

'r’-ﬁz:(O;l)wn
x 5 1 5
z 3 2

2
3
or —2y+32=5—-6+6

Obtaining:
Sr — 2y +3z2 =295

as our Cartesian equation of the plane.

ii) We need to first find the vector equation of the line, which is quite simple. Since the
line passes through D and is parallel to OA, we can immediately find:

r = 0D + AOA)

T -3 1
yl=111]1+A][3
z 2 2
T -3+ A
y|l=11+3X\
z 242\

From which we can find the set of parametric equations:

T=-3+A
y=1+3\ (16)
z2=2+2)\

Then, to find the point of intersection of the line and the plane, we need to find the value
of A whose coordinates satisfies the plane equation:

r+2y—2z=7
Substituting the variables with the ones obtained in (16) yields:
(=34+AN)+2(1+3N) —(2+2)\) =7

“B3+A+24+6A-2-2\=7

22



5A =10
A=2

Thus, the coordinates of the point P is just the respective values in (16) with the value
of A\ being 2:

—342
P=| 1+6
2+ 4
1
P=|7
6

Lastly, the vector DP:

~1 -3
pP=|7|-1|1
6 2

2

DP = |6

4

And its magnitude:

IDP| = /(22 +(6) + (4)°

|DP| = /56
|IDP| = V4% 14
|DP| =2v14

which is equivalent to what the question required from us.

6.2 Problem 2

The points A and B have position vectors, relative to the origin O, given by OA =i+ J+k
and OB = 2i + 3k. The line [ has vector equation r = 2i — 2j — k + pu(—i + 2j + k).

i) Show that the line passing through A and B does not intersect [. [4]
ii) Show that the length of the perpendicular from A to [ is \/Li [5].

Solution

i) To find the vector equation of the line passing through points A and B, we need to

23



find its directional vector AB:

AB =0B - OA
) 9 1
AB=10o| =1
3 1
) 1
AB = [ -1
2

With that, we can find the vector equation of the line that passes through points A and
B, which we’ll denote with s:

—

s = OA + \(AB)
1 1
11+X[ -1
1 2

S =

Then, to check whether the lines do not intersect, we can equate the vector equations r
and s:

r=s
2 -1 1 1
2 4+pul 2 |=(1]+2]-1
-1 1 1 2
2—p 1+ A
—242u=11-X
—1+u 142X

From there, we obtain a system of linear equations, as the following:

2—p=1+A\
: (17)
> At+u=1
—242u=1-X\
: (18)
= A+2u=3

If we subtract equation (18) with equation (17), we find that:

and

24



With both of these values found, we can check whether they are consistent if we substitute
the scalars in equations r and s respectively.

2-2\  [1-1
—2+4| = [1+1
—1+42 1-2

0\ [0

2] £ 2

1 ~1

0 0

2] £ 2

1 ~1

Since the values of A and p are inconsistent, therefore there are no points of intersection
between the lines — which is what the question required us to show.

ii) We are going to use the intuitive method shown in 4.2.1 Example 1.

Let A’ be the foot of the perpendicular from point A to the line [. Since A’ lies on line [,
then A’ has the general equation:

2 —1
A=1=2|+pl| 2
—1 1
2—p
A=1-2+2u
—1+u
Then, we find the vector that passes through lines A and A’, namely AN
AN =A — A
2—pu 1
AA = =24+2p | — |1
—1+p 1
1—p
AA' = [ =3+ 2u
=2+

As we know, AA is perpendicular to n, the directional vector of line [. Thus:

(AA") -2 =0 (19)
If we can find the value of u that satisfies equation (19), we can then find the magnitude
of AA’, which is the length of the perpendicular from A to .

1—p —1
—3+2u]-1 2 | =0
—24+pu 1
—14+p—6+4p—24p=0
6pu =9
3
=3
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With the value of p found, we can substitute its value to the vector AN

-

AA = [ =343
-2+
1

N 2

AA =10
-

Lastly, we only need to find its magnitude:

|AAY| = \/(—%)2 +(0)2 + (—%)2

- 1 1
AN =)=+ =
A =[5+
v =2

2

. 1

A% = —

V2

which is equivalent to what the question required us to show.

6.3 Problem 3

The line [ has equation r = i+ j + k + A ai + 2j + k), where a is a constant. The plane p
has equation z + 2y + 2z = 6. Find the value or values of a in each of the following cases.

i) The line [ is parallel to the plane p. [2]

ii) The line [ intersects the line passing through the points with position vectors 3i+2j+k
and i + j — k. [4]

iii) The acute angle between the line [ and the plane p is tan='(2). [5]
Solution

i) Let n be the directional vector of the line [, such that:

a
n=1\2
1

And m be the normal vector to the plane p:
1
m= |2
2

If given that the line [ is parallel to the plane p, then n would be orthogonal to the
normal vector m, since both the line and the plane are normal to the vector m. Thus the
equation:

~ A~

n-m=2>0
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must be satisfied. Therefore:

a 1
2 21 =0
1 2
a+4+2=0
Finally,
a=—06

ii) We need to first find the equation of the line that passes through both position vectors
given by the problem, which we’ll denote with s.

3 3—-1
s=|2]+up 2—-1

1 1-(-1)

3 2
s=12]1+p|l

1 2

34+ 2u
s=|24+p

1+2u

Then to find the point of intersection, we need to equate r to s and find the values of u
and A that satisfy the system of linear equations.

r=s
1+aX 3+ 2u
142\ | =| 2+ pn
1+ A 14+ 2p

Assuming the point of intersection exists, we can solve the following system:

142V =2+ 4
T+A=1+2u

Manipulating the second equation above yields:

1+ A=14+2u
= A=2u

From which we can plug into the first equation.

1+22u)=2+p

1+4p=2+pu
3u=1
1
=3
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Then we can find the value of \:

A=2u
=2 (3)
3

A=2

3

With the initial assumption that the system is indeed consistent, we can finally solve for
the value of a,

1+a\=3+2u

o)1)

2a 2
94z
3 +3
2a_8
3 3

8
a=—

2
a=4

iii) We know that the angle between a line and a plane is given by the equation:

n-m

sin(0) =

lid

3>

where n is the directional vector of the line and m is the normal vector of the plane.
Firstly, we need to find each of the respective components, namely:

and its magnitude:

and its magnitude:

| = VI+4+4
7| = V9

/| =3
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The dot product of the two vectors yields:

a 1
n-m= |2 2

1 2
n-m=a-+4+2
n-m=a-+06

With all the components found, we can find an expression of the angle, such that:

. a—+6

Given from the problem, we also know that the angle is also equal to tan='(2).

0 = tan""(2)

tan(0) = 2 (22)

We should somehow correlate the quantities (21) and (22). Sure we can take the value
of 0 as the decimal approximation of equation (22), but it won’t give an exact answer —
which is preferable. This is when trigonometric identities get in handy.

Recall:
cot?(0) + 1 = csc?(0)

(m) 1~ (im)

Therefore, using equations (21) and (22), we obtain:

(1) - (@)

which we can express as:

2 a+6
1 2
Ly 9@ +5)
4 a? +12a + 36
5_ 9a? + 45
4  a?4+12a+ 36

5a® + 60a + 180 = 36a® + 180
0 = 31a? — 60a

Finding the zeroes of the equation above will yield the values of a. We can do this by

factoring a.
0 = a(3la — 60)

Obtaining the values of a such that:
a=0
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and

0=3la — 60
3la = 60

~ 60
731
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